
i) 5x5x5x5x5 (ii) 3x3x2x2x2 

ii) -2)x(-2)x(-2)x3x3x3x3 (iv) bxbxbxbxbxcxCXC 

(v) axaxaxbxbxCxCXCXCXC 
3. 3 

)2 
(v) 25 x44 

i) (-2 (ii) 3 (iv)-3 
(vi) 5x33 (Vin) -3) x(-5) 

)343 i) 729 (i) 2187 

(iv)-2187 (v) 3125 (vi)-3125 

i) 100 i) 300 ii) 1000 

(iv) 2700 (v) 405 (vi) 1600 

6. 11 33I5E>, < = 1bai R 
(ii) -5) s 

(iv) -1)"-) -1)"O1" 
i)(-5)'s 1i) -7 O7 

(vi) 220 

7. 2592 =21x 3 RTA m n A 
8. 16875 = 3mx 5 mRFn A 

13. 3 5a fa (Laws of indices) 

13. 3.1 A fA3 
(i) 3x3 7 AR M I CTRI 

3 x3 
= (3x3) x (3x3x3x3x3) 
=3x3x3x3x3x3x3 

= 37 

3TT 3 3gCTDA 9T (A 3)1 q5 T0I A 2 5| 
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332 1 3 RT 

3 501 3 * RUEI 

fo 3x3 TOU 2+5 = 7 bI 3 RURI SIST 33x3=3 

3x3 32*5 

37 

=(-3)*x(-3) 
(-3)5 

=-3 

a xa'= a 

7 a'xa' = a**d DAILY ASSAM 

ax a" = (axax... Xa) x (axax.... Xa) 

3TE ma IE n Dl a TR 
= axax ax... 

77 + n bi a 

atn 

a 91 T aE 7{*T (a =0) E nm nqd RI T 
a"xa" = a'"*" 

) 33x37=5347 510 
(1) (-2)®x(-2)* = (-2) =(-2) 

221 



i) 72x7 x 75=721445 = 711 

() -4) x(-4)'x(4Px(4) 
= (-4)3+742*5 = (-4)17 

) 30+3 fA3 i UR 

36-33-22 
3x3x3x3x3x3ate 3 TR 3x3 A R) 3x3 

= 3x3x3x3 

-34 

33-34=36- 

RTCOT drA gsi -2 

-23 
-25-2)} (-2) 

=2x2)x(-2)x(-2)x(-2) 
-2)x(-2) 

=(-2)x(-2)x(-2) 

=(-2 
=-2* 
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a +a'= 

axaxaxaxaxaxa 
axaxaxa 

axaxa 
= a* 

= a7 

a" 
a a= m>nTaiN 

a" 

(moT a eT 

(nDI a ) 
axax aX.........Xa 

axaxaX...........Kd 

a a"= am-n 

i) 520-512-50-12-5 (ii) (-3)2+(-3)=(-3)27=(-3) 

(3 ) F fI 

(32)d ZT (3*) 4 2 

(3) = 32x32x32x32 

=(3 *3)x(3 x3)x(3 x3)x(3 x3) 

= 3x 3x3x3 x3x3 x3x3 

= 3 
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:. (3** = 3x3*x3x3 

32222 

= 3 

7T a1 2+2+2+2 8 ie 25 47 I | 

iR 2+2+2+2 2x4 = 8 

(33) 7ET 37 752 
i 3 pE 4 Uks 3 0 75TEI SI 2 E T 4 

57 a17 2x4 = 8 
(3)" = 33=3

(3=335 =315 

(3 36x4 = 324 

(72 = 7%8 = 716 

-2)=(-2)53 = (-2)!5 
-3)*=(-3)43 = (-32 

sfol (a)" 

n Re] 
nRR mT 

= a"xaxa"x a".. Xa 

** q" T2 .. 

13. 5 97E 75ET Te Sj 7 a8 

i) 43x4= 43*5 =4 

(ii) 5 x5= 5 =58 
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34x5 7 iA1A? 

3x5 (3x3x3 x3)x(5x5x5x5) 

=(3x5)x(3 x5)x(3 x5)x(3x5) [ K 5EI 
= 15x 15x 15x15

= 154 

a 3x54 = 151 i 

iR 34x5 = (3x5) = 154 

(-2) x35 7R 

-2) x3 

=-2)x(-2)x(-2)x(-2)x(-2)x3x3x3x3x3 

= {-2)x3} x{-2)x3} x {(-2)%3} x {(-2)x3} x {-2)*3} 
= (-6)x(-6)x(-6) x (-6) * (-6) 
= (-6) [T -6 -2 3977] 

jR (-2x35 

= (-2x3)5 

=(-6) 
= (5x 7)= 35 

(-27x27 = (-2x2= 4 

53x73 

3*(-5)'= {(-3)*(-5)}= 15 
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COCE amx b" = (axb)" 

a" xb" = (axax..... Xa)x (bx bX....X 
(m D b) 

= (axb)x (axb) x.... X (axb) Bl (axb)] 
= (axb)" 

ax b= (axb) 
13. 6 97 5 a> 7 8 

34 
(1) 5 

33x3x3x3 
55x5x5x5 

4 RT] -

ii) axaxaxaxa 

b bxbxbxbxb 

b b 

56 

-3) 
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a a 
b) 

a" axax... Ka 

b bxbx....... xb 

a 

b :* n 7* J 

) 
13. 7 b * 

50 ATR ATT? 

5 
53 

5x5x5 
5x5x5 

1 

= 1 

5 
a" 

a'l- 

5 a" 

=53-3 =50 

wofe 5=53-3==1 

IT 50=1 
TRH 70=1 

-29=1 
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a"a" = a"-n 

a = a"-

a a 

a = 1, TAT a QI TR 7*TI (a = 0) 

(1) ax a" a 
(11) aa" a"" 

(iii) (a")"" an 

(iv) axb" (axb} 

-
(vi) a= 1 

HR 8 

)x3x42 
9x8

4 (1) (3°x3)+33 

TI4 (0) (3*x3*)* 3 

3323 
= 3733 

=373 

34 

2x35 x42 
(ii) -

9x8 

2 x3 x(25 
3 x2 
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2x3x24 
3 x23 

23x3 
23x3 

2x3 
2 2 

=2-3x35-2 

= 24x33 

R 9 3 7R (T5 Å AT1S1 ) 

(2a b x(3ab)' 
2x9x(a"b*) 

(2abx(3ab) 
2x9x(ab 

2ab31a'bi 
2x3 x(ayb3 

23x3a3b23 ab 
2x3.a23b23 

VUlenap 

23x3a baib 
2x3ab6 

23x3a4 6+4 
2x3.a° b° 

23x3al3b 

2x3a b 
23 3 a bl0 

2334-2al3-610-6 

=22x3a'b° 
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opAa 13 .2 

(i) 35x37x310 (i) (27x2)+2 
(iv) (34) x (3*)* (iii) (20x 2x25)+ (20x26x27) 

(v)(16 x 8')+ (25)* 

(vi) S*7°x5% 
21x15 

(vii25x5°x94 

10x93 

(253x16x3 (vii) (23x50 
2x33 

(1X)2 
(x)7323 

702 
7$ x3 x6' x4 

(21) x343x2° x81 

(i) 768 (ii) 729 ii) 128 x625 
(iv) 64x729 (v) 1000 

3. 73 

(2ab3)3x (3ab2 
i xb")P x(aP xb"y" 

(axb) 
(i) 62 x(ab) ii) 

ab- x (ab3) x (a?c2) 
(ii) (ab-c-) 

a 3m-81 COTE m ia 4. 

) 3a-(3a) (ii) 2332 

(ii) (5)=(5*)° (iv) 23 x 33=6 

(v) (vi) 2=52 
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